Molarity Problems
1. What is the molarity of a 5.00 liter solution that was made with 10.0 moles of KBr?
2. A 250 ml solution is made with 0.50 moles of NaCl.  What is the molarity of the solution?
3. What would be the volume of a 2.00 M solution made with 6.00 moles of LiF?
4. How many moles of CaCl2 would be used in the making of 5.00 x 102 cm3 of a 5.0M solution?
5.  How many moles of LiF would be required to produce a 2.5 M solution with a volume of 1.5 L? 
6.  How many moles of Sr(NO3)2 would be used in the preparation of 2.50 L of a 3.5M solution?
7. How many grams of CaCl2 would be used in the making of 5.00 x 102 cm3 of a 5.0M solution?

8.  How many grams of CaCl2 would be required to produce a 3.5 M solution with a volume of 2.0 L?

9.  How many grams of NaI would be used to produce a 2.0 M solution with a volume of 1.00 L?

10.  What is the molarity of a 2.50 x 102 cm3 solution containing 45.0 g of C6H12O6 ?

11.  What is the molarity of a 5.00 x 102 ml solution containing 249 g of KI?
12. What is the volume of 3.0 M solution of NaCl made with 526 g of solute?
13. Determine the molarity of each of the following solutions:
a) 2.50 mol NaOH in 1.50 L solution
b) 412 g BaCl2 in 3.75 L solution
c) 75.1 g Ca(NO3)2 in 500.0mL of solution
14. You wish to make a 2.50 L of a 1.75 M Li3PO4 solution.  How many grams of Li3PO4 should be added to this volume of water?
15. How many grams of NaOH are present in 65.0 mL of a 2.20 M NaOH solution?
16. Determine the molarity of each of the following solutions:
a) 4.50 mol MgCO3 in 2.50 L of solution
b) 90.2g K2SO4 in 850.0 mL of solution
c) 10.5g NaF in 275 mL solution
17. How many liters of H2O must be added to 75.5g of NaHCO3 to form a 0.500 M solution?
18. How many grams of glucose (C6H12O6) must be added to make 750.0 mL of a 1.25 M solution?
19. What is the molarity of a 0.30 liter solution containing 0.50 moles of NaCl?

20. Calculate the molarity of 0.289 moles of FeCl3 dissolved in 120 ml of solution?

21. If a 0.075 liter solution contains 0.0877 moles of CuCO4, what is the molarity?

22. How many moles of NaCl are present in 600. ml a 1.55 M NaCl solution?

23. How many moles of H2SO4 are present in 1.63 liters of a 0.954 M solution?

24. How many liters of solution are needed to make a 1.66 M solution containing 2.11 moles of

KMnO4?

25. What volume of a 0.25 M solution can be made using 0.55 moles of Ca(OH)2?
26. What is the molarity in 650. ml of solution containing 63 grams of NaCl?

27. How many grams of Ca(OH)2 are needed to produce 500. ml of 1.66 M Ca(OH)2 solution?

28. What volume of a 0.88 M solution can be made using 130. grams of FeCl2?
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